TINGEMZE KW v nl FEPESEE vk, GEMERU T :

Number of allowable failures

% 0 1 2 3 4 5 6 7 8 9 10

95 2.9957 4.7439 6.2968 7.7537] 9.1536 10.513 11.8424 13.1481 14.4347 15.7052 16.9622
90 2.3026 3.8307 5.3223 6.6808] 7.9936 9.2747 10.5321 11.7709 12.9947 14.286 15.4066
85 1.8071 3.3724 47231 6.0135 7.267 8.4947 9.7031 10.8965 12.0777 13.2488 14.4112
80 1.6094 2.9943 4.279 5.5151 6.721 7.906 9.0757 10.2325 11.3799 12.6188 13.8507
75 1.3363 2.6926 3.9204 5.1094] 6.2744 7.4227 8.5585 9.6844 10.8025 11.9139 13.0196
70 1.204 2.4392 3.6165 47622 5.8904 7.0056 8.1111 9.2098 10.3007 11.3073 12.4598
65 1.0498 2.2189 3.3174 4.4647| 5.5466 6.6331 7.7105 8.7823 9.8497 10.9132 11.9736

ARH: A=05*X* (1-a, 2(r+1)

X2 (1-a, 2(r+1) J& H HBE R 2(r+1) XA A IR - o [R50 7 5k

a NESRIVEAEE, —BBh90%;

r N SCVRIR R

Biltn: FEVFRBLIRE, A=0.5*CHIINV(1-0.9,2*2)=0.5*CHIINV/(0.1,4) =0.5*7.66 =3.83




